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= 2000 — 1600
= 400 ()




oh] 2] A= o] g0] Lho] o] 4ufo] L, oo A= o] o] Lho] ] 3
W} 54 BT olgol7k 11419l mf, opz|gt ofm] o] A e]

A utdu7ty
> = A

> Hehl 64

B
(o] &o] ot x| AA])

= (0]20] }o])x4 = 11 x 4 = 44(A)

(1Y A = (o]=°] Yo]) x3+5 = 11x 3+ 5 = 38(Al)
(oFH R &} o1 &] AA] A}

=(oFH ] AAN)—-(o1HY dA)

=44-38 =6 (M)




g

+ 5000

o]

1

KA

7S

EERE

o)
L
i

172 32 6 At 250
[e3]
=

—9
1t
1

Ytk 450
|
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120 x 4 + (120 x 4 + 70) x 3
480 + 550 x 3 = 480 + 1650 = 2130 (%)
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1000 — (280 + 530) = 1000 — 810 = 190 (&)




